
Jagram-Pro S.A.

 Jagram-Pro S.A.
   ul. Le na 16    14-240 Susz     POLAND      
tel. +48 55 2788497      fax +48 55 2786051

marketing@jagram.pl  marketing@woodandarch.com

http://www.woodandarch.com/

 
 
 
 
 
 
 
 
 
 
 

  NEVADA

II 

L  = 607 cm

 W = 615 cm

   H  = 341cm  

Konstrukcja



B-B ( 1 : 60 )

B B

2 

190821

1998 140 1998

6066

2138
2138

4275

5
4
0
4

6

8

9

0

158

1998 1998

4415

5
5
4
4

7

0

8

7



3 

190821

1

2

3

4

1

9

4

9

3
4
0
5

2
9
2
9

306

6156

100

1372 1430
1422 1307

36

44

36

36

44

1

2

1

8

2
3
3
2



LISTA CZ CI

NR CZ CIILO

ELEMENT

kant wka 140x140x2330a
21

kant wka 140x140x2330b
42

kant wka 22x80x2976
85

kant wka 23x57x2476
46

kant wka 23x35x2476 
47

kant wka 23x57x2476
48

kant wka 23x57x2476
49

kant wka 56x95x4460 + kant wka 56x95x1528
2210

kant wka 80x160x6000
211

uk 36x380x6000Rw5800312

uk 38x120x1838Rw1090213

uk 44x380x6000Rw5800214

uk 80x120x1583Rw1090215

4 

190821

2

1

2

5

11

15

13

12

14

12

12

14

5

10

9

7

8

6

7

8

8

6

6

8

9

7

6

9

9

7



. ( 1 : 15 )

.

5 

190821

FRONT

10

M14x160 2szt.

2

1

2

2

1

2

16x160 3szt.

2

1

2

2

1

2

14

M10x160 2szt.

M12x280

12

5x90 3szt.

11

11

13

13

140x140

1

4

6

0

1

4

6

0

M8x150 4szt.



 

Y ( 1 : 15 )

.

Y

6 

190821

8

14

14

M8x55 16szt.

12

12

12

5x45 4szt.

5x90 8szt.

60x200

5x45 4szt

5x90 8szt.

14

14



. ( 1 : 10 )

AA

AB

.

7 

190821

8x140 5szt. 10

10

5

5

5

5

4x60 4SZT.

4x60 4SZT.

6

7


